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Y & v agtar I Instructions to the Candidates

1. e O 0T IRt & & 7 g1 FaAreT et 9¥ et area i @ aeaie o smean

/The question paper is in the form of test booklet. All candidates will be assessed
on identical questions.

2. 3cal Tor@er g Wall 3Rt 1 Freiet A 9fY F WY T F vH HTHIN IR
QAT 3UE S SATUI| HedlaTd FeaT H Ufd & NTANT efie F e s
aor st i |@iT &3 /A separate OMR answer sheet with carbon impression is

1



provided to all candidates for answering. The carbon impression of the OMR

. sheet will be detached and handed over to candidate by the invigilator.

10.

X aETeISS U Ueh Qleq T/ AT WA & |re feram Snwa, Srgh e Iee AT (%),
(@), (3n), TAT () W1 | 313 | T &Y 3cad |el g1em / Each objective question is
provided with a text and/or figures wherever applicable with multiple answer
choices (a), (b), (c) and (d). Only one of them is correct.

AR efie T RU v gl F A F 98 HA el F RgAd s aw
ﬁ'@ﬁmm:ﬁamma‘hqﬁzmmamﬁlhad the

instructions on the OMR sheet carefully. Use only Blue or Black Ball Point Pen
for writing on OMR sheet and marking your answers.

. gEs YR & WAl F W o ¥ @AW T HE M

TAd St F AT FNS AFRHF 3Fa A1 & / All objective type questions

carry equal marks of ONE for a correct answer. There is no negative marking for
Wrong answers.

.wnmagﬁﬁumaﬁwmmmi&mml

Multiple answers for a question will be regarded as a wrong answer.

HATF P W T T ¥ gRawr # Re av Rea vy 1 399091 T 76 ¢
e ¥ F5 Y ofie 3udey Adl S Swelt / Space available in the booklet
could be used for rough work, if required. No separate sheet will be provided.

m‘mamﬁﬁﬁagaﬁmwma,mwmmmmaﬁl
T 3T U9 & T TFS § AT 91 F FfdeT w2l g #¢ / Do not waste time

on questions, which are too difficult for you. You can go on to other questions
and come back to the difficult ones later.

ofem & vuw we & oW Rt # wdanm gw o #r aaAfy ad@ g

Candidates are not permitted to leave the examination hall during the first hour
of the examination.

qﬁmtmmwu)mﬁ’qﬂmgﬁﬁamﬁﬁﬂﬁmmm
TANR Seal TReaaT Idiard F Aia § aor Bl off grona # sreeff go¢ amew o
& ST / At the end of the test (1) Hall Ticket(s) with photograph pasted on it

and (2) OMR Answer Sheet shall be returned to the invigilator and shall not be
carried by the candidate under any circumstances.
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MATHEMATICS - SET B

fA=ti-3j+2tk, B=i-2j+2k, C=3i+tj—k then ['[ABC]dt=

A.-1 B.2 €. 0 D.-2

fosT & ¥ i A1 BowT TAF adRe FEAT U AET A8

Which of the following function is discontinuous at every real number

A. IR CEll '{Uﬁﬂ-TW Greatest integer function
B. RIIT ®eleT Derichelet function
C. agqa'qm?r Polynomial function

D. El-ﬂ';-‘.' c'rlﬁ' None

IR aATmE e IR FmF swag g A
If ¢ is afinite group and H is a subgroup of ¢ then

O(H) t 0(G)
g(H} >0(&)
O(H)|0(G)
None

on®»

AT S = {a+ib,c+id}AFeT TH C 3T R & ©T tF WU T 3R

Theset S = {a + ib,c + id} is a basis for the vector space C over R if

A.ad —bc=0 B.ad + hc =0
C.ad+bc#0 D. ad —bc# 0

5. e*cosx T AEAR a@TT
The expansion of e*cosx .

2x3 2xt

A T+x+=—=+..
3! 4!

2x3 2x*

The number of units in — is

A. O(n)

B. d(n+1)
C. p(n+3)
D. d(n+2)




s w9 & @ Sl @ TR R

Which of the following group is cyclic?

A. Zi5 X Zg
B. Zlo X ZBS
D. Zy; X Zy1 X Zgs
8 1 4 5
fA={0 2 6| thenA is
0 0 3
A. H@ﬁﬁ' Symmetric B. g@RIeT Hermition
C. STUIdTSAdd Diagonalizable D. 31'8?__!@?1’ Skew symmetric
9 | i TR T Py(R) 3 38F 3@ § = (1,1 +x2,x2, 5} W AR &, ar
g ¥ @ wla wrwcT
Consider the inner product space P;(R) and its Subset S = {1,1 + x?%, x2,5} then
which of the following is true
A. Scs§
B. dimSt=3
C. A&B
D. None
10 | i IS SRR L i
limpy e[l =S+ -7+ -+ (D" 1]
A.log 2 B.—log 2 C.0 D.None _
11 | g@ae x -3y +2z=0 AN 4F x? - 5y% + 22 = 0 F WER e 1 @it &
€T FT Fror F4T F? -
The angle between the lines of intersection of the plane x — 3y +z = 0 and the cone
x2—5y2+z2=0s
_ -1(3 - -1(3
A. 6 = cos (3) B. 8 = cos (55)
_ -1 (2 — -1(3
C.68 = cos (E) D. 8 = cos (6)
12| gordf & wieer qof #AT &7
Which of the following is complete ordered field
A. R B. C C. a&b D. None
13

19 31”1§3|’r 141 &7 3T FAT &P
The inverse of 19 modulo 141 is

A. 50 B.51 C. 54 D. 52




14

FAH ¥ FUT BT f(x) = —— & Readd

1+|x|
The function f(x) =

x
1+|x|

is

A R—{0} 9 f BIRATa & f is not differentiable on R — {0}
B. R—{0} ¥ f Bwift¥aa & f is differentiable on R — {0}
Cx=09 f BeiReee ¥ f is differentiable at x = 0

D. H-'»’Ié’ ;rg."r None

15

farfli@a ufFaal & ¥ =i '\':ﬁﬂ'l?;ﬂ' Qi‘f yz +4zx + 3xy = 0 & folT Icuew &2

Which one of the following lines are generators to the Cone yz + 4zx + 3xy =07

Al x=y=1z
B. x=-y=12z
C. x=2y=-z
D. x=y=-z
16 | afy $37w 2015 & Peuiée ARTw AY o Preaide AT A1 &1 2w Fo7
g
If A is nilpotent matrix of index 2015, then index of nilpotent matrix A s
A. 19 B. 18 C. 20 D21
17| o1 rd¥eee @ a9 e WATUT 4T §7
What is the singular solution of y#(1 + y?2) = r? when r is constant?
A y?=drx )
B. y?=4r
C yZ — TZ
B. 9% =#3
18 [ gt ¥ 1 a1 Aforw agen (AerT) &
Which of the following is monic polynomial
A 5x*+2x+1 B. x* —2x+1 C. 3x2+1 D. 2x3+3x+5
19 2
f x|x]dx =
0
A. 0 B2 o D. 2
3 2 3




(1+ey)dx+e5(1—§)dy=0 FTIEA FAT ¢ ?
The solution of (1+e5) dx + e (1 —9 dy =0

X

A x+yer=_C
B. y+xe§=C-
€. xy+e§:C
D. x2+yze§=C

W oler A - A IS FHE AT 82

The smallest non-abelian group of order is

A. 6 B. 5 C. 8 O. 9

&rer ged x =acosb,y = b sin 6 & folT %gﬁc(xdy—ydx) =
For the ellipse x = acos@,y = bsin @ the value of %gﬁc(xdy — ydx) =

2mab
n2a?h?
mab

4 72q2%h?

oOnwx

TerRee e 7@ x =0,y =0,z=0 3R 2x + 6y —3z+9=0%¢ 39
afifea aem &= &1 gFEwIoT FAT e

The equation of the sphere inscribed in the tetrahedron whose facesarex = 0,y =
0,z=0 and 2x+6y—3z+9=0is

A. x2+y2.+zz+x—-y—z—%=0
B. x2+y2+zz—x—y—z—%=()
C X*+y+z2+x+y—z+7=0
D. x2+y2+zz+x+y+z+%=0
fx)=|x—1|+|x—2 |[forx €R then f is T AT

A. BRERAET T8 Not differentiable at x = 1,2
B. BrRRET H’Eﬁ Not differentiable atx = 1,—-2
c. BriRReEe F-l'eﬁ' Not differentiable at x = —1,2
D. BwiRRATa § Is differentiable at x = 1,2




25 1 1 -1
IfA = (1 2 3 ) and if A* + aA% + bA + ¢l = 0 then a,b,c respectively
6 1 0
A. -11,-2,12 B. 11, 3, 12 C. 3,57 D. None
26

I p UF HATST WEAT, o T QUi H&aAT §3HR p faal
Let p be a prime number (3T3Td HEAT) and ais an integer (EI'\Ul‘i'eF HEAT) with

p t a then

A. a? = 1(mod p)
C. a? = 0(mod p)

w

a? = a*(mod p)

. aP™t = 1(mod p)

27

smz x
—_—dx

smz x4+ Cosz %
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STATISTICS- SET B

28

STHAT IR (k) T FeRon 1 3 k& & Jaecdie &7 @ o sTu H 9A
LT, T 39F T F adF "ded AT F, B IR & iaeae &
fole =T §?

Determining the sample interval (represented by k), randomly selecting a number

between 1 and k, and including each k™ element in your sample are the steps for which
form of sampling?

A) W HALET AHAT Simple random sampling

B) FIfad HATG AHAT Stratified random sampling
C) cgateyd dAHAT  Systematic sampling

D) FeI¥CY IHGAT Cluster sampling

29

TF FAed sdih Basd H §

A randomized block design has
A) ARG RG] FATHIOT Two way classification
B) Th dig o FeffdToTONe way classification
C) &7 aw o FaffRTOTThree way classification

D) @I$ FIfHIVETET No classification

30

atca FifeTdH F7 ¥ F7 § PR 3R Faa 39

A sufficient statistics is minimal if and only if it is a
A ied FFRTH F FTHA F wgeAqHd AT FIETH Minimum
sufficient statistics in a sequence of sufficient statistics

B) &1 @Y TATed WIfEIHr T Teh Wl A function of every other

sufficient statistics

C) YUAAN & HFAATAIIN BT T A function of UMVU

estimators

D) w3 3 All the above

31

A: L.P.P. T §T THHT 3S¢dH WA §

B: L.P.P. T &T SSCaAH HATYUTA HHTUIA §
A: Every solution of L.P.P. is optimal solution
B: Every optimal solution of L.P.P is solution

A) A3 B &= |@ A and B both true
B) &del AHE Ais true only
C) &ad BHE! Bis true only

D) &l A 3iX B IAd Both Aand B false

8



32

dhRIcHSD ai%tlaﬁaw nb(x;r,p), r =1 & folT 41 B STAT B2

Negative binomial distribution, nb(x;r,p) for r=1 reduces to:

A. edag RaTor Binomial distribution
B. QISH=T @aIUT Poisson distribution

C. gBW=IiAd @avor Hypergeometric distribution
D. SR BT Geometric distribution

33

AT T Ao 77 T B W i war §

The selection of appropriate multivariate analysis depends on

A) Bidet @IX TF tHd Aeewor # I F ®7 F AT Smar & How many

variables are treated as dependent in a single analysis

B) 0 R 3t wmaw Sl TR ATYT BT SArar %‘ How variables,

both dependent and independent are measured

C) T T & AT AATT: AT § Whether the values of variables are
normally distributed

D) A3l BAandB

34

TF HAMed I X T ALY 3 3 A BaesT 5 § ar Iv v=2x-5 &1 [F=gor
FIT gram?

If a random variable x has mean 3 and standard deviation 5, then, the variance of the
variable Y=2X-5is,

A) 25 B) 45 C) 100 D)50

35

Ifg vFH v AWS AT [E7 §aY¥(1/2) CRT urTd F "1 UF AT RET
(afe) &

If X is a standard normal variate, then (1/2) X* is a gamma variate with parameters:

A)1,1/2 B)1/2,1 C)1/2,1/2 D)1, 1




36

gt ¥ Flaar FueT UF guia F Ao 7@ a@ 82

Which of-the following statements is not true about factor rotation?

pA) I dgieds T @ AH0F rdqel qurE deot gred FA F e 9@
T F AE F AU aF AW F YARAOLIE O ARFH F
E!'\U'iTr'I' F1 Ifad 99T %’I The ultimate effect of rotating the factor

matrix is to redistribute the variance from earlier factors to later ones to
achieve a simpler, theoretically more meaningful factor pattern

B) qﬁawmwwm%ﬁ:ﬁmﬁrmwﬁvmm
Yedd IHeadl UrE FA W F e, e e §

Rotated factor solutions are based on how much variance factors account for,
where each subsequent factor account for less variance

C) aifeas haer JeeT: eT Y 90 WU F FT W AT FC & gl

Oblique factor rotation: axes are not maintained at 90 degrees

D) 3itufeiierer et TAT:378T HT 90 37er & FIT IT FATC I@T B

Orthogonal Factor Rotation: axes are maintained at 90 degrees

37

wﬁmﬂsﬁcgmﬁgmﬁﬁﬂr:{m#mm%

Factorization theorem for sufficiency is known as

A) qa-selhde WHT Rao-Blackwell theorem

B) @AY T YAT Crammer_Rao theorem

Q) 9T Nfde YAT Chapman_Robins theorem
D) Bea-ad AT Fisher-Neyman theorem

38

Ui a 3 b & BT ax+b F T HeT FT ¥ |

For constants a and b, the expected value of aX+b is

A. E(aX+b)=Ax B. E(aX+b)=b
C. E(aX+b)=aE(X)+b D. E(aX+b)=aX+E(b)

39

iy AT & e (X,Y) F TdF galdT & 100 ¥ g Fr I &t x W
Y &7 wferae Ui FAT g

If each observation in the set of Values(X,Y) is divided by 100, the regression coefficient
of Yon Xis:

A. 100 ¥ §¢ ST Increased by 100

B. 100 & ©T ST Decreased by 100
C. 1/100 th of B\{x

D. 3UUFd HIS &l None of the above

10




40

Bedieaa ages IF e AT (X-Mo) W i AR &ar &2

Wilcoxon'’s signed rank test considers the differences (X;-My) by way of:

A) &l HTFT GaRT Signs only

B) haer HTAT GaRT Magnitudes only

C) grsa 3 #AET @dRT Signs and magnitudes both
D) 3UFT H & FIS ABI None of these

41

WA g% % AT Q.D., M.D, T S.D FHT HquTd FT §?
For a normal curve, the Q.D., M.D., and S.D., are in the ratio

A) 5:6:7 B) 10:12:15 C) 2:3:4 D) None of the above

42

gRvdrr favor &1 Ay 3R Bavor (@ARTW) b(x: n, p) HAU: 430 4738 2
AhaaE Aelet T THEGAT 4T 872

The mean and Variance of Binomial distribution b(x:n,p) are 4 and 4/3 respectively.
What is the probability of getting 2 successes?

A) 20 B) 20/423 C) 20/243 D) 1/243

43

FIS TFC T O AT & 0T § B X st Fxar & 2

Whether a test is one-sided or two sided depends on:

A) dfeds TR&EEUT Alternate hypothesis
B) WHI UNFHeqsr Composite hypothesis
C) YT qR&eqsT Null Hypothesis

D) WA IR&HEUST Simple hypothesis

44

o+ NIy g § cqgerd A 7 UF A Flaar ¥

A set of feasible solution in linear programming problem is

A) I-3eae ATNon-convex set

B) 3cdel WeConvex set

C) 3rqFag WeDisconnected set

D) 3UFd qa Tﬁ’l? sT&l None of these

45

afg x, &1 #71eT 4 3 x, F1 AT -2 § 3R X 31 X, FEET FAREET ¥
ar E(2 Xy + X, -5) ST AT AT 21

If X1 has the mean 4 and X; has the mean -2 and X;and X; are independent random

variables, then E(2 X; + X, -5) is

A) 1 B) 2 C)3 D)4

11




46

gfe v FART ¢ (IRNTTA) X F AAT T (1/3+2/3e)g ar X FT § ?

'If the moment generating function of a random variable X is (1/3+2/3€"), then X is a:

A) safell 89X Bernoulli variate

B) qrare @€Y Poisson variate

C) @IS R@= Binomial Variate

D) dAhRIcHS m Negative binomial variate

47

Bl v & A gaer a9 R el § o@ fisw # Afe v wA @ FA

The information from an experiment stabilizes when error degrees of freedom is at
least

A) 6

B) 8

C) 10

D) 12

48

tRIfes BRor &1 ve Fog orwed Arey BT & ey gtaar Bevor
Fgardl ¢

A family of parametric distribution in which mean is equal to variance is:

A) E‘Qaﬁ'ﬂ' f@aT0r  Binomial distribution
B) AT BGYOT  Gamma distribution

C) §THTT @G0T Normal distribution
D) q’lé'a?r f@a39T  Poisson Distribution

49

TfE By>1, @l Byy FIAT BIIT:

If Byx>1, then Byyis:

A. 1¥® &H Lessthan1l B. 1 ¥ 3B+ Greater than 1
C. 1% @& Equaltol D. YT & @ Equal to 0

50

Ife P(B/A)=P(B) 31T P(A)z0, P(B)z0, d«
If P(B/A)=P(B) and P(A)#0, P(B)#0, then

A) P(A/B)=P(A) B) P(A/B)=P(A).P(B)
C) P(A/B)=P(A)/P(B) D) P(A/B)=P(B)
51 | us f@FSFT 5 9] SoTaTarar & a9 oY e fr g w1 2 o e Fir
THTTAT 4T &7

A coin is tossed 5 times, probability of head is %. The probability exactly 2 heads is

A)5/16 B)1/16 gl 23 D)1/3

12




52

WS dT FT T hadr wHEeT § 2

Level of significance is the probability of:

A) Typelerror

B) Type Il error

C) Not committing error
D) Any of the above

53

afg p=1¢ ar ufdersa v @Y ant F @i For Far gem

If p=1, the angle between the two lines of regression is:

A. R[eT Zero degree B.oTed Ninety degree
C. ¥TS Sixty degree D.dT Thirty degree

54

ﬁ#ﬁmﬁﬁmﬁmﬁmm#mmqﬁwﬁm%?

To test the randomness of a sample, the appropriate test is:

A) T TEI8TOT Run test

B) WIZAYLETOT Sign Test

C) PBgsr gdietor Median Test
D) T GO&TUT Page’s test

13




COMPUTER SCIENCE - SET B

55

WON & dgS ded & AR W FAT Fgardm ¢

The memory address of the first element of an array is known as

A BTS2 Q§F Foundation address B. ¥ 1!'3'\‘1' Floor address
C.94H n‘;‘w First address D. qH U?;TT Base address

56

do1 vfeweersT A (Sew) Bad garT Bemger B mar ar
Data Encryption Standard (DES) was designed by

A.Tqel Apple B.HWUTFI'T Microsoft
C. 3msdTH BV D.®1$ off 3eaf@a sTEl None of the mentioned

57

ATFedaT B shaer g% & Tgall FGH i T &2

Which is the first step in the software development life cycle?

A.‘é\ms?r Design

B.FRawOT Analysis

C. 319HY Ygdlad Opportunity Identification
D. EATASIIIUT Documentation

58

qewed v e wada ¥

The bootstrap program is stored in

A3 Cache B. JH ROM
C.3ATUTH RAM D.@Tﬁ? $TSTUTT Tertiary storage

59

TR Y o Riwarsoree e garn B ST 82

Process synchronization of programs is done by

A. 3T3CYC S9C Output Input B.gaT9C Input
C. ATQYFEI AEEH Operating system D. AN Memory

60

AFedaT B &1 yau g 9T iR &2

The Management of software development is dependent upon?

A. 39T Product B.YfSHAT Process
C. @ People D.3T0Fd THY All of above

14




61

Feaad Agfea oW w1 BiSee a1, Ac a¥ oy B S wwRar €, 39 & Fa
ST & ‘
The highest frequency at which digital data can be applied to gate is called

A. Jrqfear arfa Operating speed

B. dTfeier WHAY Charging time

C. Eﬁﬂff TAT AeleeT Fr 3ralT Binary level transaction period
D. WHRUT a1fd  Propagation speed

62

I HAHAH Fed F 10 9AUT ¥ FA F F FC o7 F d9 aqrer

ITETF AT ST FAT gl AT &

The time required for a pulse to decrease from 10 percent of its maximum value is
called

A. 9GR fr 20 Propagation delay

B. B. & WHAY Decay time

G EI'IET-F!T AT HaIor Il Binary level transition period
D. {I$H HHY Rise time

63 | uw WBIT & WA FA W QU A dF F AT HI 41 Fel AT §
The time from submission of a process to the time of completion is termed as
A.g9<  Throughput B. €3MI38 WHA Turnaround time
C. afafhar WHT Response time  D. T&lT HHT Waiting time.
64

afg & geae vw € FHT A g §  gea F4 §

If two events occur at the same time, then the events are

A. F-Hﬁ?-ﬁ' Concurrent B.&lTeT AXARIA® Non-monotonic
C. AATEI@® Monotonic D.3T- AGET monotonic Non-concurrent

65 | & U¥e Bheed BRAGA Theet T
A packet filter firewall filters at the
A. 3Taed 9d Application layer  B.STeET % 9d Data link layer
c.oifd® 9Td Physical layer D. 9R@gal 9XdT Transport layer
66

B yar A wfa AR &

Which types of memory is volatile?

AT 189 Hard Drive B.3RUTA RAM
CIH ROM D.3r Cache

15




67

SAMANT FAiaoT A A §

Geometric transformation include
A. THRIIT Scaling B. Tr&Qrel Rotation
C. ST translation D.& w8t All of these

68

& §I9E ORAT & FF F TN # F1 ¥ FA Faal & gaIe NAND I warar?

The minimum number of two input NAND gates used to perform the function of two
input OR gate?

A. 4 Four B. 2 Two C. 3 Three D. 1 0ne

69

Rl & ¥ Fi9 a1 gafeua A Fr wefia sar g7

Which of the following refers to the associative memory?

A. ¥eT FAF T T 3TAT AT ST & The data are accessed sequentially

B. €T & 9l SUARTHAIH EaRT Y&l Bhar SIar & The address of the
data is supplied by the users

C T UH I & T & 39T &A1 AT & The datais used as an

address

D. 32T &1 gam WY gaRT 3c9st @fem € The address of the data is
generated by the CPU

70

i @ B & UF 3T TRAT ST T § S 39 fARvar 3t sEs de
a?rmuﬁa?mhanﬁar%l

In which of the following, a separate schema is created conswtmg of that attribute and
the primary key of the entity set

A. Wé—\q’-aw_é Y AT A many-to-many r'elationship set

B. U TN & Hed! ﬁ?’{\ ue A multivalued attribute of an entity set
C.UH-U-HS AT BC A one-to-many relationship set

D. ¥ 3T & g=r Both A and B

71

aﬁaﬁaﬁlﬁﬁmmﬂ%#gﬁgmm#mﬁﬁw
Hafeasr adisr Fa1 87

The best hidden surface removal methods used for complex scenes with more than a
few thousand surfaces is/are

A. TIBTI%’ Hifear @ Depth sorting method
B. it d B Octree method

C. Thel @IS TedNMNGH Scan line algorithm
D.&W C3X D BothCandD

16




72

UfSerdhereT T Breer o) B @

Application layer is implemented in

A. 3d YOITelY End system B. $UIAC Ethernet
C. TATSHT NIC D. 39Fd & ¥ IS AEl None of the above

73

Ry #Y IR T A d WA AR q6 W gEar A9 F @A g9 gwy w7
3YANT FHT AT &TAAT Y FAT FHgl ST ¢

The ability to temporarily halt the CPU and use this time to send information on buses
is called

A fBH & T seEn System interrupt

B. WISl T dFeRar Vectoring the interrupt
C.3REE AAYY TFAH  Direct memory access
D. ¥% aARY Cycle stealing

74

T AdeR W@ F FI yShia T 1 gwar g

A dotted line can be displayed by generating

A Fgd aa o1 forwer gt Ser & s A1 HAF 8 Very long dashes with
spacing equal to or greater than dash size

B. @gd BIe S fSraa Ry 29r & ST &' Very short dashes with
spacing equal to dash size

C. @gd are o oA @ gor & qureY 3T 3®F & Very short dashes
with spacing equal to and greater than dash size

D. S Dots

75

W g0 A & arg ff &R 9T vE fiFT A PRET 9HS F FIAT FeET AGT

Continuous glow of a heam on the screen even after it is removed is called as
A. T&dT Persistence B .ufadicelt  Fluorescence
C.Fgﬂ?ﬂ‘fl':‘cr Phosphorescence D.dT &f®F Incandescence

76

e fvdvsl # gad ¥ Fla @ Sragia §
System Analysts have which of these responsibilities.

A. 3TETHAT & Adl F g Identify sources of requirement
B. WIrdd & 3221 & 5W URNATAT & IR H GASAT

Understanding how the project will contribute in the organization objectives
sRead AIFedaT T ITaRIHAr3it H1 AeAwor 3 WHASET  Analyzing
and understanding requirements of intended software

D. 39X 3feaf@a @it Al mentioned above

O
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PrfraT & @ F @ s s @ ¥

Which of the following is not a process metric?

A. G&TdT Efficiency B. SIA&THAT Functionality
C. 9[oTdedT Quality D. Ie9Tgehdl Productivity

78

Jeadd sifas a1 affhe suaEaT §

Physical or logical arrangement of network is

A 2Tt Topology B. stedfhaT Networking
C. ®f&ar Routing D.HIE &N None

79

e # ¥ Fl7 ¥ UF 35AF @ a9 @ T ToAINLH &7

Which one of the following is the deadlock avoidance algorithm?

A. SFICEMRTA Banker’s algorithm
B. TeldeY UedIRLH Elevator algorithm

C. T3 TS TeARLH  Round-iron algorithm
D. el TSMNLH Karn’s algorithm

80

TH FI5d 94 & [\e

To create a file

A. PrERYET & 7% wIed & AT UF 9@ SATT  Make an entry for new file

in directory

B. BISol fAveH # T IEfed Y Allocate the space in file system
C.A3R BEMI BothAandB

D.390Fa & & :1$ off A& None of the mentioned
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